
English Fsc Part 2 Chapter 8 Online Test

Sr Questions Answers Choice

1 The Great Proletarian Cultural Revolution has freed China from a traditionally cumbersome
_____________

A. cabinet
B. workers
C. engineers
D. bureaucracy

2 The farmer does not ________ to the cities because the industrial road passes through a
technically oriented agriculture and a decentralized industry

A. flee
B. fled
C. flow
D. flies

3 Agricultural labour must not be __________
A. urban
B. urbanized
C. urbanism
D. urbanned

4 Agricultural mechanization is being _________ with considerable caution
A. introduces
B. introduce
C. introduced
D. introducing

5 The masses stay put and carry on their traditional intensive ____________
A. love
B. rest
C. comfort
D. labour

6 Its modernization will have occurred without a ________ from the fields
A. flight
B. settlement
C. farming
D. crop

7 In the year 200 China will still be a powerfully ________ and peasant country
A. ancient
B. agricultural
C. mechanized
D. scientific

8 Their system even manages partly to _________ the population of the cities
A. increase
B. gather
C. reduce
D. settle

9 Political control over the massage has stopped the ___________ from the countryside
A. incoming
B. setting
C. staying
D. exodus

10 Chinese do not have the ___________ fevers of money, alcohol and sex
A. Three
B. four
C. five
D. six

11 Chinese cities show an absence of __________ which is neither backwardness nor delay
A. women
B. automobiles
C. cinemas
D. markets

12 The Chinese model cannot be analysed according to its differences from the _______
system

A. Eastern
B. Southern
C. Western
D. Northern

13 For years the Chinese have been striving to make the world realize that there are other
important things in life besides an increase in _________

A. export
B. import
C. agriculture
D. GNP

14 The gigantic chinese social experiment does not only concern Asia but the _________ too

A. West

B. East
C. South
D. North

15 Chinese have addressed the problem of the blind ___________ of the cities
A. assumption
B. expansion
C. impression
D. exemption



16 The Chinese model cannot be analysed according to its differences from the ___________
system

A. Eastern
B. Southern
C. Western
D. Northern

17 For years the Chinese have been striving to make the world realize that there are other
important things in life besides an increase in __________

A. export
B. import
C. agriculture
D. GNP

18 The gigantic Chinese social experiment does not only concern Asia but the ________ too
A. West
B. East
C. South
D. North

19 Chinese have addressed the problem of the blind _________ of the cities
A. assumption
B. expansion
C. impression
D. exemption

20 The ascetic militant Chinese have gone straight to the ______ of the problems
A. routes
B. ruts
C. roots
D. rivets


